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Identify the test (circle one):

1. Significance test for one proportion (1-PropZTest)

2, Significance test for the difference of two proportions (2-PropZTest)
3. Significance test for a mean (T-Test)

4. |Significance test for the difference of two means (2-SampTTest)

Md-  —

depth

Check the conditions:

1. {he (SC‘"'“\AQS wire rc-n_cb.n[y

Other: (depending on the test, circle and give the necessary values . .
( % - ) obltined and ave d (Pf’fh‘{ {d’

Data: Significance level a = _* \O

P e ey, P T 2_U¥ tedn other
o = by = @ (.04 Thc onbined sige n=Vitvg =1
g & s brger o (5 aed The
@; B @ 2.09 sumples \oole ho’r(ma“)/ désfi by
. q O B - 3.
Qr——" N |0 =100 Y ks of
ng T = 81 lS?’o[( i - | il
= O: G K/V['E s LOO < Fotgl wamber of wied

td
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. Cor 1,103 # @ widdeplhy
State the hypotheses:

Hy : /Uh:/{’{?. of /Vl.\ ",/M.? =0
H,: /{f\., "T_/L{'Z o MiMa $O
where (circle and describe in words the appropriate symbol(s): p,p1, P2, ;@i@

M= Yo wiin anoaat of gldvia at te boton of T Wb River
My = Yne mon aroud of gldrin at vld-depthoF Yo Wl River

Compute the test statistic, p-value, and label and complete the sketch:
X =% -
L _ LGk

ol N2

Test statistic:

7 \2
T formula

Y
P-value = __» L?/ 5 5q§,
Is the sample significant? M Q

Yes/No

Conclusions: —
(Circle one) We rejecti/don’t reject)the null hypothesis.
Explain in context.
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TIdentify the test (circle one):
1. Significance test for one proportion (1-PropZTest)
2. Significance test for the difference of two proportions (2-PropZTest)

3. Significance test for a mean (T-Test)
4) Significance test for the difference of two means (2-SampTTest)

el

Exeain

(onbed
Doerdse

Check the conditions:

State the hypotheses:
Hy: ‘/(/\.\ :/Ut‘l or M{ _./!/t?, :O
Ha:/\AL-(/UL or ML‘/UL’L <

where (circle and describe in words the appropriate symbol(s): p,p1, P2 it 1) o)
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Compute the test statistic, p-value, and label and complete the sketch:

fo —1.153%6

Test statistic:

T " formula

P-value = ,“ iU E g

Is the sample significant? k}g
Yes/No

N

ngr;zigsé?lg:“’e reject@the null hypothesis.

Explain in context. )
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Identify the test (circle one):
1. Significance test for one proportion (1-PropZTest)
2. Significance test for the difference of two proportions (2-PropZTest)
3. Significance test for a mean (T-Test)
Significance test for the difference of two means (2-SampTTest)

Check the conditions:
Data: Significance level a = O : 05 1 M \ay WOTE M 4 (
Other: (depending on the test, circle and give the necessary values) S ~P Y

T=__ thC‘l‘N’.é Gdd IM-C’:E-{DQ.VAM‘{ ot fﬁ-gﬁ

By s 5 5 Utbey
- i an A— P = @: lOH n:tf ) [5
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s (@: (2 Crny

State the hypotheses:
B =My
Hi: My {:/U\*L

where (circle and describe in words the appropriate symbol(s): p,p1, P2, ;@@

A AN evliogl Site ok & farm (1 Tadican CCML/
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Compute the test statistic, p-value, and label and complete the sketch:
Lo AN | 6780
S04 %

ny W

formula

P-value = __ ¢ 6 8 ’Z’L
N

Is the sample significant?
Yes/Nao

Test statistic:

Conclusions:

g;fi?no;el X:eﬁ@he null hypothesis.

oot Polelos = 5820 > .05 = € we dort acject-The
wull hypoilesis.
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